= H O
M = 0 & AF Y &H A M
2AM: sgI&4E
M s
Chel: AEXSMA JI=ET (H:H2)
- _ _ MNEC
SM-BH-H2A(FAH) - MIRAY - BES Of] koK 'oﬂ/'\_FOH HusZ
SI|=dH 3,146,188 4,121,333 A975,145
= 340,636
& 474,000
= 18,523
& 310,730
= 2,002,299
sSI|=HY 2,050,017 1,667,673 382,344
= 176, 166
= 425,000
== 213,000
= 1,235,851
AMSXNSMA J=23 104,646 226,780 A122,134
& 8,000
= 96,646
SEETH MAAIH 6,000 6,000 0
206 M=l 6,000 6,000 0
01 M=z bl 6,000 6,000 0
o HEFIMN MM HE, s¢47Y XA
200,000 * 1094 = 33 6,000
AT ASANEE 2 4,160 10,900 26,740
201 Let29h| 200 1,000 A800
01 AbR22lH| 200 1,000 A800
o ZSATM ASANEE S22 HE
200,000 * 12l 200
206 M= HI 3,960 9,900 25,940
01 M=l 3,960 9,900 A5,940
o EAXNM ASAEE 2&F N 2
660,000 * 1.2ha * 53] 3,960
f=Xdsg A" 2,705 2,680 25
101 el H| 945 920 25
04 JIZtMZ22XsEs 945 920 25
o l=Xd=d HMEARY 33,740 » 7H + 42 945
201 et2IH| 1,320 1,320 0
01 AbR2t2ld| 1,320 1,320 0
< Yx=z > 0
o flaXd=se EX Xt 720,000 * 102 720
o fleXd=e AUl Xt 150,000 * 43| 600
206 M =4l 440 440 0
01 MH=z=Hl 440 440 0
o l=Xd=sgd SX 2 HE27
110,000 * 43 440
H SRotRA X A" 48,000 84,000 A 36,000
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M sYol=He

el AESMM IEE2 (a2
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
402 It XHE01H 48,000 84,000 236,000
01 SIAGEEX 48,000 84,000 236,000
o H SRoteA 21,000,000 * 2424 * 60% 25,200
o 5R & 19,000,000 * 29424 * 60% 22,800
HeIFEX SAHI 29 3,300 16,200 A 12,900
206 M=l 3,300 6,000 A2,700
01 M=4| 3,300 6,000 A2,700
o X 7 2,000 * Zha * 50kg 200
o Hzg s% 7Y 310,000 * 2ha * 53l 3,100
FEAS MU 2 15,000 15,500 A 500
402 It X201 15,000 10,000 5,000
01 SI2Zt =2 X 15,000 10,000 5,000
o TN & sSAM 2
18,750,000 * 1JHA * 80% 15,000
SA0IEY ZMAsK HdaSAIY 2,700 0 2,700
206 M=l 2,700 0 2,700
01 M=Hl 2,700 0 2,700
o A 7 2,000 = tha * 50kg 100
o Hz s% F2¢ 650,000 * 1ha » 43l 2,600
LNZE RS AL 29 2,000 0 2,000
206 M=l 2,000 0 2,000
01 M=H| 2,000 0 2,000
o B, HIY, MM FL 1,000,000 * 2044 2,000
H 23 Hlw 8ANE 229 4,781 0 4,781
101 elH| 1,181 0 1,181
04 JIZtHIZ22HsE+ 1,181 0 1,181
o MAIZ 2e| 33,740 » 7H * 5 1,181
201 LBt 3| 2,100 0 2,100
01 AtE222|H] 2,100 0 2,100
< YiEt=Fd| > 0
o MAZYE F32 223
30,000 * 108 * 23| 600
< Yx=z > 0
o MAZE X 900,000 * 1JH2A 900
o MAIEZE ZHl Xt 150,000 * 43| 600
206 M= H| 1,500 0 1,500
01 M=H| 1,500 0 1,500
o X 7Y 2,000 » 5kg » 30& 300
o Hzg s% 7Y 300,000 * 43| 1,200
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M s€lis4dH
M sYol=He

SR ARNSMA JI=EZ (&2 &
- _ _ ME
2N -3 - c2(3H) - NEME - HES Ol & oK @;OH Hns
AME H ZJ|IIHEH =0 AlY 16,000 0 16,000
== 8,000
iy 8,000
402 It X201 A 16,000 0 16,000
= 8,000
iy 8,000
01 QI2ZtXE2E X 16,000 0 16,000
o XMZE W XI|IHUH EHAIY
20,000,000 * 1004 * 80% 16,000
== 8,000
= 8,000
AEAE 8 233 75,680 105,765 A30,085
= 22,440
- 53,240
Hols& A 29 14,000 13,600 400
= 7,000
o 7,000
101 el 24H| 4,532 5,534 A 1,002
= 2,266
= 2,266
04 JIZtMIZ2E2XNHsSE> 4,532 5,534 A 1,002
o gaiE Ea 2Y9 BxX
33,740 = 19 = 118 3,982
= 1,991
o 1,991
o AUIBE & 3,982,000 * 13.8% 550
= 275
iy 275
201 LEt29H| 5,800 4,266 1,534
= 2,900
= 2,900
01 A2 2eltl 5,800 4,266 1,534
< YdotZH| > 0
o SUMEXNEA 2 153 2L 150,000 * 23| 300
= 150
= 150
o AMEXMNFTHIIG K= HE 600,000 * 13l 600
= 300
= 300
o Ag % Hils E= ME 3,900,000 * 14 3,900
= 1,950
= 1,950
< IOl=2H| > 0
o golis t&Es 7Y 80,000 * 5% 400
= 200
o 200
< YxzE > 0
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M sYol=He

ol AZNS SN BEXR (el @)
_ _ _ Muo
SN -HH - SA(B) - MRAY - BES O &F 24 Sl e HRE2
o HZEY 22Z fEl 120,000 * 53l 600
= 300
2 300
206 M=l 1,668 1,800 A132
2 834
= 834
01 M=H| 1,668 1,800 A132
o YilE HEA 2Y HE P
02,000 * 1JHZA 702
= 351
= 351
o ZEIL 2F M=l 161,000 * 6IH A 966
= 483
2 483
301 Yere Az 2,000 2,000 0
= 1,000
= 1,000
10 BAIAHIEA S 2,000 2,000 0
o AlatXz BIlg HAL84 25,000 » 80 2,000
= 1,000
= 1,000
Ty 2Y 19,000 16, 101 2,899
206 M=l 5,000 3,500 1,500
01 M=H| 5,000 3,500 1,500
o AII2E A2 JtA 200,000 * 5& 1,000
o ICPII2Y A2 JtA 400,000 * 55 2,000
o ZA&AMNY 2 200,000 = 108 2,000
401 A &HIL 2048 9,000 0 9,000
01 Al&H| 9,000 0 9,000
o ZSEHEA SIIAE A 9,000,000 * 14! 9,000
405 AHoHESHI 5,000 3,500 1,500
01 T =SS HSHI 5,000 3,500 1,500
o EUHY PSAIAE Ea J|)|
5,000,000 = 1CH 5,000
ELHEY 2I 10,880 10,064 816
= 5,440
= 5,440
101 @I21t| 2,190 3,750 A1,560
= 1,095
i 1,095
04 JI2tHIZ2E2NEE S 2,190 3,750 A 1,560
o EXHIA 2 BX 33,740 » 1H = 57 1,924
= 962
i 962
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M sYol=He

Col AZNE YsHY FESX S (e
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Of) &b o il i~ o Rz
201 Y2 Y| 4,200 0 4,200
01 AtR2elt| 4,200 0 4,200
o HolE KE L IANE ME
700,000 * 64! 4,200
DX EYAH 7,600 0 7,600
201 Y2 Y| 2,000 0 2,000
01 AtR2elt| 2,000 0 2,000
o NEZE M 100 * 20,000 2,000
206 M=l 5,600 0 5,600
01 T2l 5,600 0 5,600
o MI| Y JtA 7Y 200,000 * 2 400
o 1P Y It 7Y 400,000 * 35 1,200
o A% P 200,000 * 205 4,000
SET HRIIE AS 434,489 469,726 35,237
ASNEE 29 27,053 56,878 £29,825
101 Q1248 6,074 4,928 1,146
04 JIAH2ZRSES 6,074 4,928 1,146
o ASNEI 22 33,740 * 62 * 302 6,074
201 Y2 Y| 2,000 26,000 24,000
01 AtR2elt] 2,000 2,000 0
o MEANEE TE M 50,000 * 407H 2,000
207 1IN Y| 12,979 25,950 A12,971
03 Algiei | 2,979 25,950 A 12,971
o AZEAEE 29 W2
120,000 * 10Z * I 4 6,000
o AZANEI 24UYE RF
1,650.8 * 75 * 602 6,979
401 AEHI LS 6,000 0 6,000
01 Al&| 6,000 0 6,000
o AZANEE 2442 L FHIR
600,000 * 105 6,000
=qeis 2 9,700 9,628 72
101 Q1248 2,700 2,628 72
04 JIAH22RSES 2,700 2,628 72
o WRIYI RS SSE 22
33,740 * 8% * 102 2,700
201 Y2 y| 1,000 1,000 0
01 AtR2elt| 1,000 1,000 0
<2YLrY > 0
o MRS LAY 100,000 * 103] 1,000
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M sYol=He

Sl =BT WEIs S (25 &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il i~ o bRz
206 2| 3,500 3,500 0
01 HEH| 3,500 3,500 0
o T MBAT ¥ HE
100,000 * 35% * 12 3,500
405 XHAHE SHI 2,500 2,500 0
01 RAUSEH S| 2,500 2,500 0
o NS8 =M AW 7Y 250,000 * 10% 2,500
BRMN 23 317,000 72,140 244,860
307 QI2H0|H 200,000 0 200,000
05 PIZteIEr2 200,000 0 200,000
o S¥ S2¥ BLAXNE BRYN 5I} AL
100,000,000 * 274 200,000
401 AIZHIL 2O 110,000 0 110,000
01 Al 110,000 0 110,000
o 2B S2¥ BAXL L A
10,000,000 * 11744 110,000
405 XHAHE S 7,000 0 7,000
01 RALSEHSH| 7,000 0 7,000
o ZE M 7,000,000 * 14} 7,000
M2 AEAETE 56,049 313,080 A257,031
101 121l 4,049 0 4,049
04 JIAH2EZHEL S 4,049 0 4,049
o AZANEE 22 33,740 * 1588 * 82 4,049
207 1Tt 10,000 0 10,000
03 Al& Q| 10,000 0 10,000
o AENEE 2% Wz 7Y
50,000 * 50% * 43| 10,000
401 AlZHIL 2O 42,000 313,080 A271,080
01 Al 42,000 313,080 A271,080
o BHl U BaA 10,000,000 * 224 20,000
o HIJIRIBISA AlM 5,000,000 * 141 15,000
o JIEIAI&(SEY, =, RT2 S)
7,000,000 * 14} 7,000
LI ZHYY LYD DF M B3 24,687 0 24,687
101 2121t 1,687 0 1,687
VIBEDEESEERS 1,687 0 1,687
o @I DF MARE 33,740 * 5F » 10 1,687
207 P Y 8,000 0 8,000
03 AlE 2 7| 8,000 0 8,000
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SN S| EHE
HE: so)afg
Sl Y f2INE AS SRE
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod i =%
o RYDF U MK 7Y
80,000 * 10% + 103 8,000
401 AIEHIL2OH] 15,000 15,000
01 Al 15,000 15,000
o HEAE L BHIAAY &3
15,000,000 * 14! 15,000
DEX SENE ¥ MU 125,000 125,000
2 15,000
= 30,000
2 80,000
M HIZZE o 8I0Hs AlY 30,000 30,000
2 15,000
2 15,000
402 QI XHE 0| 30,000 30,000
2 15,000
2 15,000
TS 30,000 30,000
o HA HEYE L BIIHM
37,500,000 * 1742 * 80% 30,000
2 15,000
2 15,000
B S X 35,000 35,000
402 QIZHXHZ 0 35,000 35,000
01 PIATZBE 35,000 35,000
o ENEY ZX b
10,000,000 * 54 * 70% 35,000
ABHSMASHINL A 12,000 12,000
= 6,000
2 6,000
402 BIZHXH 0| 12,000 2,000
= 6,000
2 6,000
IR 12,000 2,000
o ABXS MASH N
15,000,000 * 1§ * 80% 12,000
= 6,000
2 6,000
DEZSYDMMMIIE 40,000 40,000
= 20,000
2 20,000
402 BIZHXHE 0| 40,000 40,000
= 20,000
2 20,000
01 QIZTEBE 40,000 40,000
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M sYol=He

O9l: NEN SSNS 0N M (e @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
o NEX LR M|
50,000,000 * 194 * 80% 40,000
= 20,000
2 20,000
HISSHANESSINY 8,000 0 8,000
= 4,000
2 4,000
402 2121 XH 0| F 8,000 0 8,000
= 4,000
2 4,000
01 UAEBE 8,000 0 8,000
o MURH HA MBS 23
10,000,000 * 1744 * 80% 8,000
= 4,000
2 4,000
ZASD25H0 OHEA S 117,800 338,900 A221,100
=2 15,000
= 32,400
2 70,400
HEOIE HBY BHZ2 YA 4,000 8,000 A4,000
= 2,000
2 2,000
402 212t XHE 0| F 4,000 8,000 A4,000
= 2,000
2 2,000
01 UARZRE 4,000 8,000 4,000
o HHOIE HBY BH2 MMAY
5,000,000 * 144 * 80% 4,000
= 2,000
2 2,000
ASASNES 98 RS0 MSYLUAE 40,000 30,000 10,000
= 16,000
2 24,000
206 M= HI 20,000 10,000 10,000
= 8,000
2 12,000
01 T2l 20,000 10,000 10,000
o DIMSUX % Z2 250,000 * 4% * 203l 20,000
= 8,000
2 12,000
405 XtarE S| 20,000 20,000 0
= 8,000
2 2,000
01 XA SEF S| 20,000 20,000 0
o 422 0|42 BILI| 20,000,000 * 1CH 20,000
= 8,000
2 12,000
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SA: SetlEHE
A =)l
CHelr BAS DY UHEA B (B9 &2

el
x
bl
-
i
4o
fon
2
>
el
=
R
=i
0x
o
=
[
2
2
R
12
o
£l
0l%
IS

NEE E€E Aoty ga Al 30,000 0 30,000
15,000
15,000

M

402 It HE01M 30,000 0 30,000
15,000
15,000

M

01 It EE L 30,000 0 30,000

,000,000 » 1002~ 30,000

15,000
15,000

A

O sSESEIXID ASAE 15,000 0 15,000

t=20l& 15,000 0 15,000

22X 15,000 0 15,000

o (s =E EIXII A5 3,000,000 * 5742 15,000
=

MEZ22 MEH=SE2S HSAE 4,800 0 4,800
2,400

2,400

Ml

402 2t =01 4,800 0 4,800

2,400
2,400

Ml H1

01 2IEXEE X 4,800 0 4,800

o[
o
S
S
o

00 » 1JHZ = 80% 4,800

2,400
2,400

Ml

=M RIISE &S Al 24,000 0 24,000
12,000
12,000

EURE

402 BI2HHE01& 24,000 0 24,000
12,000
12,000

EUNCH

01 2ItX=Ex 24,000 0 24,000
o =HNRINHES 433 AME
30,000,000 = 1JH2A = 80% 24,000

12,000
12,000

U

== MIlsEs 604,952 135,812 469,140
88,726
225,000
85,000
206,226

Ao A

FE M==AY 177,452 89,812 87,640

88,726
88,726

M
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M sYol=He

ool T MDIZEE CCRE!
_ _ _ Muo
SA-E . S(E) - MEAY - BES 01l &4 24 i SImE=ET
301 et a= 4,480 0 4,480
= 2,240
= 2,240
10 ALAHIE &= 4,480 0 4,480
o HIZE DS &4 24
20,000 » 28 « 83| 4,480
= 2,240
= 2,240
307 2120l & 91,342 0 91,342
= 45,671
= 45,671
02 BIZtANE X 91,342 0 91,342
o BIZ=E It Mo A N
45,671,000 » 2002~ 91,342
= 45,671
= 45,671
402 2I2b=01H 81,630 60,000 21,630
= 40,815
= 40,815
01 2IEAEE X 81,630 60,000 21,630
o §OIE ANEHI 4
40,815,000 » 200 81,630
= 40,815
= 40,815
== olE ZEEY &X 5,500 6,000 A500
307 Ql12told 5,500 6,000 A500
02 QIFAE X 5,500 6,000 A500
o WrHEZLH E@ &3
11,000 = 1,00090 * 50% 5,500
DEE E& HAXH 270,000 0 270,000
& 225,000
= 9,000
= 36,000
402 22t +=01H 270,000 0 270,000
& 225,000
< 9,000
a 36,000
01 BItHE2EX 270,000 0 270,000
o NEN ZEUX ZHAY
450,000,000 * 10z * 60% 270,000
= 225,000
= 9,000
= 36,000
NEEst MeALY AlEY 96,000 0 96,000
S 48,000
s 48,000
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M s€lis4dH
M sYol=He

Celr = MIIEEE (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
402 It XHE01H 96,000 0 96,000
= 48,000
> 48,000
01 RIZtNH=EE 96,000 0 96,000
o 2 AFLE MAEZ 120,000,000 * 80% 96,000
[ 48,000
2 48,000
A 28 & BARX SEAY 56,000 0 56,000
[ 28,000
2 28,000
402 LIt XHE01H 56,000 0 56,000
= 28,000
= 28,000
01 RIZINH=EE 56,000 0 56,000
o WA =2ZF FERI SEAEY
70,000,000 * 1702 * 80% 56,000
[ 28,000
= 28,000
HA MIIEES 373,450 322,026 51,424
= 25,000
o 200,000
[ 9,600
= 138,850
Ilss LUENE 84 240,000 0 240,000
= 200,000
[ 8,000
2 32,000
402 BIEXHE O A 240,000 0 240,000
& 200,000
[ 8,000
2 32,000
01 It X 240,000 0 240,000
o Jlsd LUELE &4
400,000,000 * 174 * 60% 240,000
o 200,000
= 8,000
2 32,000
D Makd Sa Al 51,000 51,000 0
201 LEr2H| 1,000 1,000 0
01 AtER22|H] 1,000 1,000 0
< Ypt=EHl > 0
o HEMAE 2 #2E 2 200,000 * 5)HA 1,000
207 HFIHEHI 5,000 5,000 0
03 Al el 5,000 5,000 0
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D s9Jl=dH
Dl
DA MIIEES

SNBSS - MEAY - BES

[
2

20
B
2

o DEHZEMH & =8

500,000 * 10742 5,000
307 QI2H0IH 45,000 45,000 0
02 PIAMBE 45,000 45,000 0

o oY Ngd NFF=2Q 23
300 * 300,000 * 50% 45,000
AERI0) 425 OILIK =2 HIIK Al 50,000 0 50,000
=2 25,000
2 25,000
402 BIAR 20| 50,000 0 50,000
= 25,000
2 25,000
01 PIAX=EE 50,000 0 50,000
o A& M5 HHXEZ HIIX AlY
50,000,000 * 172 50,000
= 25,000
= 25,000
@I ISR J=23 25,000 0 25,000
402 Q12X 20 25,000 0 25,000
01 PIAX=EE 25,000 0 25,000
o SRTUUHAIL 6,250,000 * 8IHA * 50% 25,000
R 2o LT A 4,250 0 4,250
207 P LI 4,250 0 4,250
03 AlE Q| 4,250 0 4,250
o MEGHe HILZE W 1,700,000 * 2.5na 4,250
NEHA THHHK ESHS LHIIEAE 3,200 0 3,200
= 1,600
2 1,600
402 RIAR2OIH 3,200 0 3,200
= 1,600
2 1,600
01 PIIRI=EE 3,200 0 3,200
o NEMA MK ESHE SRS
4,000,000 * 1942 * 80% 3,200
= 1,600
2 1,600
sl MIlzE2 128,500 32, 164 9,336
= 10,000
= 48,000
2 70,500
OFMSHOI DSl BS U SSE T4 12,500 12,250 250
201 Yer2 ) 3,000 2,750 250
01 At 3,000 2,750 250
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Y=}

Pl
j'EJHt”
: §}§-JI NMols2 s

SO (B H) - HEAY - B2 A} OH &EIE ot
. ct o=\ I T * - [= e e (] 0:”{:'_% [=]
< dbt=ZH| > 0
o 80 HE Y 25 P2 200,000 * 53 1,000
o WHMZE & n 500,000 * 23] 1,000
< 2YLY > 0
o LA 100,000 * 103 1,000
206 MZ 4l 9,500 9,500 0
01 M=l 9,500 9,500 0
o A AsSME 50,000 * 5& * 103 2,500
o StgXE X4 100,000 * 508 5,000
o HI| MAIS MZE 100,000 * 108 * 23| 2,000
AHASHESE MAD = AlY 20,000 0 20,000
= 10,000
= 10,000
402 QIZ2tX201M 20,000 0 20,000
= 10,000
[ 10,000
01 QIZtX2E8=x 20,000 0 20,000
o XMzl 235 Al
20,000,000 * 1JH 4~ 20,000
= 10,000
= 10,000
IAs LAEZH2I0F DSE MAAIYH 80,000 0 80,000
= 40,000
= 40,000
402 SI2tX 201N 80,000 0 80,000
= 40,000
= 40,000
01 a2t X}=28x 80,000 0 80,000
o 1ASs gAE DSEMA Al
100,000,000 * 1JH4 * 80% 80,000
T 40,000
= 40,000
2= 08 =38 3¢ AFAIE 16,000 0 16,000
= 8,000
iy 8,000
402 DIZ2tX =01 ™ 16,000 0 16,000
o= 8,000
iy 8,000
01 QIZ2ZtXE22 X 16,000 0 16,000
o 981 08 & S MM A
,000,000 * 10024 * 80% 16,000
= 8,000
o 8,000
et SNEs g4 85,500 36,500 49,000
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SN S| EHE
HE: so)afg
ool AEY SMES 84 (25 &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Ao il b o bRz
RIBHY I YRS 5,000 0 5,000
207 o1ty 5,000 0 5,000
03 AlE 7| 5,000 0 5,000
o QU oY FIYHAS
5,000,000 * 19H 5,000
AALSMEZAIY 70,000 0 70,000
402 RIZHXHE O 70,000 0 70,000
01 PIATEBE 70,000 0 70,000
o AP SMES Al
10,000,000 * 10 * 70% 70,000
SMAETHIHY I3 10,500 0 10,500
402 BIAR 20| 10,500 0 10,500
01 PIATEBE 10,500 0 10,500
o SM LETHH L I
15,000,000 * 104 * 70% 10,500
CERIEEY 875,547 2,203,462 ~1,327,915
2 164,470
= 49,000
= 18,523
= 97,730
2 545,804
SEXNEHY N5 196,630 420,062 £223,432
2 23,040
z 19,000
= 6,400
= 10,250
2 137,940
BEts JEHY MHIA 12,800 12,800 0
= 6,400
2 6,400
101 2121t 10,752 11,648 £896
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